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SECTION - A (5 x 8 = 40)
Answer any FIVE questions.
What are investment decisions in Financial Management?
Explain any four concepts of cost and capital.
State the implications of operating leverage.
What is capital rationing?
Explain discounted cash flow techniques.
What is MM hypothesis on capital structure?
State the three approaches to financing of current assets.

What are the objectives of cash management?

SECTION - B
Answer any THREE questions. (3 x 20 = 60)

Explain the determinants of capital structure.
Present the tools of receivables management.
Explain the different dividend policies.

Compute overall cost and capital from the following:

Sources/Types of Capital Pre-tax Cost Market Value Cost Value
Equity share capital 19% Jr 1.800 600
Retained Earnings 14% ’ 600
Long term Debts (Tax rate 40%) 12% 600 600
Preference share capital 13% 600 600
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The cash flow basis for the projects are as below:
Year Project - I Project - II
Time O - Rs. 80 lakhs - Rs. 120 lakhs
Year 1 Rs. 46 laksh Rs. 39 lakhs
Year 2  Rs. 36 lakhs Rs. 54 lakhs
Year 3 Rs. 26 lakhs Rs. 69 laksh
Calculate NPV at 10% for Project I and at 12 % for Project II and choose the
better:
PVIF: 10% for 1 year 0.909, for I year 0.826 and for 3 year 0.751.
PVIF: 12% for 12 years 0.893, for 2 year 0.797 and for 3 year 0.712.
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QIO SHTEVLD - 80 - 120
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10%  0.909 0.826 0.751
12%  0.893 0.797 0.712

%%0%0%%%%




